178(A) UG-I11/Sanskrit-VIII(H)/21
2021
SANSKRIT
[HONOURS]
Paper : VIII
Full Marks : 100 Time : 4 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five of the following: 1x5=5
fsfie @ Anf ersm Ter e ¢
a)  Give an example of AfUFv-agsiizammE:

with SATEETR |
(R F2 AfEEee @A e s lh
TWEFe WS |

b) What is the full form of 'I-Ir'?
'-Ir-93 T4zl e

) Give an application of Grassmann's law.
SAFTICES S0a9 G0 2o @S |

d) Give an example of Anaptyxis (FRHfF) in

Sanskrit.
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2)

h)

ACE(E TG 9T SURF WG |
Give the definition of STfaufees |
Aferlurd e wie |

Give an example of F0 =g |
F0 bl 9IFH THe Wi |

What is the meaning of “3R&AT@T in the
sUtra  SATATAIAN 2

‘AR I NSl ® Wy o 2
What is meant by “sifemgiHeemm;’?
‘SR FEce & @R ¢

Answer any ten questions of the following:

2x10=20

qEE @ wilh arae Teg vis ¢

a)

b)

178(A)

Account for the case-ending in the

underlined word :
i @uifEe v Fee-Refe Fdy = 2

ITeurd. UeTd I |

Explain the term ‘EEFP{’ in ‘femwor foersgor
TG |
<4
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d)

)

h)

J)

178(A)

Give an example of cerebralisation and

decerebralisation in Sanskrit.
ACS Yo @ fudeliears Snzged e |

What is meant by phonetic law? What is

Haplology?
R Tce & @RI ? AT @5 F2
Name any two of European linguists.

W2 FSERAN SrifkesaE I @4

Why is JThd¥T¥T so called? Write the name
of a text written in JThd language.

AFC TR AN Ol Fe B SR
3w @I A4TET TN @ |

Give an example of sixth case-ending in

Accusative and Genetive cases.

¢ T TS WIS GT S 718 |
Correct or justify: Rl W’.
ATV FHERe -2 g 9 A AN 9 |

Explain the word ‘&l citing the relevant

sutra.

@ TEPET Fal Wwd i 1
Explain the term ‘Ffd’ in ‘Fgerdon:Hid |
“SJFA Bl - 0T Hid 2mis WG T
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k)

D

Explain the formation of the compound
“qaafe:’” with reference to relevant siitra.

WAATE TP “aefer:” = sfon affe
(A F9
Write the sutra of ‘Juftd-+HYRIEH™:  and

give an example on it.

ToAfre-FPmeI @b @1 9% 9
Ui WS |

Answer any five of the following questions:

6x5=30

Tva - Ao aeia Ted nie ¢

a)

b)

178(A)

How does 2q: differ with R? Explain with
examples. 6
(T '€ FAER A A a2 Tuigaariz
TR LN

Explain Grimm's phonetic law. 6

M Wi T 1|

Discuss in brief the phonological features
of Old-Indo-Aryan (OIA) language with apt

examples. 6

2B Sl Y e wiveifes @RErai
THEIE ATF DT 4 |
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d) Write short notes on Metathesis and

Dissimilation. 3+3=6
Rty ¢ REireara To2g Ol @Y |

e) Account for the case-ending in any three

of the following underlined words: 2x3=6

e @@ oo @ufre Sma sis-
Rofe fda <9 ¢

i) iftq gherel g |

ii) <RmA geaTismeT @ g |

iil) oTeREA Ffd |

iv) Tesfd Ft wd ften: g |

v) fowm vaga: smresfd @ |
]|

Explain the formation of the compound with

relevant stitras: (Any two) 3%x2=6
ToryE iz on e [Resd 9 ¢ (@R
%)
Yy, sgwdy, T@tes:, fad |
f) Write short note on: 6
A< DI (=74 ¢
FETTHE L FHERGS: |
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g)

h)

Explain any one of the following sitra: 6

e @@ @6 @ [ 9

i)  YIHIRISIEEY |

i) wEHvEATe TSy |

iii) o defufa @&w |

State the implication of any one of the

following: 6

N @@ @Foa ol @19 ¢

i) wfawwomn ghed gas ot faeiworm |

i) Sftaqum @ w9, TefaaeamEl g e
FHETT |

iii) vy Iq Ram aq gRfs-r stk |

Answer any three of the following questions:

15%x3=45

AT - oA eoiw Ter wie ¢

a)

b)

178(A)

Discuss the relation between Veda and

Avesta with proper examples. 15

JYRY TR AANS (@ € SRS T
HAE S T4 |

What is the full form of IE? Name the
languages belonging to it and classify these

languages into centum and satam groups,
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d)

178(A)

mentioning the proper linguistic reasons.
2+4+4+5=15

[E-93 57~ 9% @14 | 97 Srgsfe ereiE
N @) FE 8 *ey e erslEe
Ree a7 1R 93 ARG SRefes T4
@G |

What is the main sitra (T QTﬁTﬁ'{fm) of
Panini regarding ¥@¥IasR&? Explain the
sitra according to WEIfy-dif&a: with
examples. Discuss any two of the sitras of
ISR with examples. 2+5+8=15

TEMASRe Raws Hfdfvm e @l Fie
el Wffre S BwiRge T RIS
MRS RGeS @ @ b @
TwIgge 7 G T

What is gfd:? Mention and illustrate the

different varieties of gfd: | Explain fully

the concept of IYESH in THE |
4+6+5=15

gfe Sz Jfen [ien evm Trzaerr @9
A Boiwe <afs fm =g <59

Explain the principal definition of 37feraor-
%k with special reference to the features
of term ‘3MER’ | What are fHaior @wdt and
HI=se qaHl 7 10+5=15
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IR =0 RO AR Sfiemiaes-
G &Y @ A 59 1 e st @3k
SRRM AU e @R
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